3aKpbITb

1. Au=2cos2p, r>2,
u(2,¢p) =coso.
2. Au=0,0<x<mn,0<y<mn,ecmm u_(0,y)=0,u _(x,y)=0, u,(x,0) = cos3x,u (x,7)=0.
3. Au=0,—0o<x<o00,-27<y<0;u(x,0)=0,
u(x,—27)=1,mpu x < L;u(x,—27)=0,mpu x > 1
u, =u_ +cosx,t>0,0<x<7;

u (0,)=0, u (x,t)=r,
4. 2

u(x.,0) :40055x+%,

u,(x,0)=1.

5. u,=4u_,0<x<o0,t>0
sinx,x € 10; 7]
0,x ¢[0;7]
50 AL x>0
u(0,1)=0  u(x,0)=smx u,(x,0)=3cosx.

u, (0,1)=0, u(x,0)=- , U, (x,0) =0. Haiitn 1,1(3:"r RL ) ¥ HapucoBaTh rpaduK.

6. u, =%

RY/4

Onucate nporecc konedanui. [Toctpouts npoduinb CTPYHbI B MOMEHT BPEMEHH [ = T
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